< 00, > (M)

<opyp, > ()

Ratio

0.2p

<o @> (rad)
o
S
(11

..............

1

1 2

3

TP n (PCA to beamline)

h H'li:!{:::'l'

-1 0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__CMSSW_ckf__RECO
—— DQM_V0001_R000000001__Global__CMSSW_mKFitOriginal__RECO

40

m}

o
TT T T

-1 0 1 2

3

3

TP n (PCA to beamline)

—~

100

|
N
o
T

| |
o o
o O
T T

.................................

..........................................

e
—_—T -
—— .| T

-1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


